GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.ED.) HAS BEEN VERIFIED FOR COMPLIANCE IN

ACCORDANCE WITH THE 2010 EDITION OF THE FLORIDA BUILDING CODE. THIS STORM FANEL SHALL HNOT BE INSTALLED AT
HIGH VELOCITY HURRICANE ZONES {MIAMI-DADE / BROWARD COUNTIES).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE ABOVE MENTIONED CODE,

FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 FOR INSTALLATIONS UNDER 2010 FBC AND SHALL
NOT EXCEED THE MAXIMUM (A.8.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 10 THRU 15,

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WiIND LOADS DETERMINED PER ASCE 7-10
SHALL BE FIRST REDUCED T0O A.S.D. DESIGN WIND LOADS — BY MULTIPLYING THEM BY 0.6 IN ORDER To

7O COMPARE THESE W/ MAX, (A.S.0) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 5, 10 THRU 15.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.ED. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT. USED IN THER ANALYSIS. A DURATION FACTOR CD=1.60 WAS
USED FOR VERIFICATION OF FASTENERS .IN WOOD,

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.1.2
OF THE ABOVE MENTIONED - CODE AS PER ATL REPORTS # 1128.01-00 AND #0610.02-05, AS PER $STD 12-99 STANDARD.

2. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5052-H32 OR 3004~H34 ALLOY,
3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION B6083-76 ALLOY & TEMPER UNLESS OTHERWISE NQOTED,

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AlSI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER
DIN 50018 W/ 80 ksi YIELD ST

RENGTH AND 80 ksi TENSILE § TRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE
SECTION 2411.3.5.4.

5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AIS) 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(4) TO EXISTING FOURED CONCRETE:
= 1/4" 8 TAFCON ANCHORS ‘A5 MANUFACTURED BY 1T.W, BUILDEX,
=~ 1/4" 0 x 7/8% CALK~IN ANCHORS OR ELCO mole & female "PANELMATE” AS MANUEACTURED
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY,
= 174" 8 x 3/4" ALL POINTS SOLID—SET ANCHORS AS -DISTRIBUTED “8Y ALL POINTS SCREW, BOLT & SPECIALTY COMPANY:-
-NCTES:

A1) MINIMUM™ EMBEDMENT INTO POURED CONCRETE OF TAPCON AND ELCO PANELMATE ANCHORS 1S 1 374"

A2) 778" CALK—~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTD
STUCCO SHALL BE PERMITIED, 1/4'8~20 SCREWS USED SHAL
AND 1" MINIMUM FOR WALLS WiTH NO STUCCO.

THE POURED CONCRETE, NO EMBEDMENT INTO
L BE 1 1/2" LONG MINIMUM SHOULD STuCcco £xist,

A3) MINIMUM EMBEDMENT OF 1/4'8 x 3/4" ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8"

INTO THE POURED
CONCRETE, NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" 8-20 5.5. MACHINE SCREW USED SHALL BE 1
172" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WiTH NO STuCCO.

A4) IN CASE THAT PRECAST STONE, FRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR
FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, -ANCHORAGE

SHALL BE AS INDICATED ON NOTES A1) & AZ2) ABOVE,
(B) TO EXISTING CONCRETE BLOCK WALL;
= 1/4" 0 TAFCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.

- 1/4" 08 % 7/8" CALR-IN ANCHORS OR ELCO mole & female "PANELMATE” AS MANUFACTURED
BY POWER™ FASTENERS, INC. AND ELCO CONSTRUCTION- FRODUCTS, RESPECTIVELY,

= 1/4" 8 x 3/4" ALL POINTS SOLID—SET ANCHORS AS DISTRIBUTED BY-ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

I

NOTES:

B.1) MINIMUM™ EMBEDMENT OF TAPCON AND ELCO PANELMATE ANCHORS INTD CONCRETE BLoCck
UNIT SHALL BE t 1/4*

B.2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO

STUCCO SHALL BE PERMITTED. 1/4"8-20 SCREWS USED SHALL BF 1 172" LONG MINIMUM SHOULD STLCCO EXIST,
AND 17 MINIMUM FOR WALLS WITH NO STucco,

B.3) MINMUM EMBEDMENT OF 1/4"8 x 3/4" ALL POINTS SOLID—SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE
BLOCK. NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" p-20 S.5. MACHINE SCREW USED SHALL BE 1
1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO S1ueceo.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL

BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON
NOTES IM B.1) AND B.2) ABOVE,

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF -THE ANCHOR'S
MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETALS SHOWN ON SECTIONS 1 THRU 8 (SHEET 3 &
5 OF 15) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED,

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO
BE ATTACHED TO INSURE PROPER ANCHORACE, THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
BUILDINGS,

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT
WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION, CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENCTH,

10. (&) THIS P.ED. PREPARED BY THIS ENGINEER 1S GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC
PROJECT; la. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

{b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT, -BASED ON- THIS P.ED. PROVIDED HE/SHE DOES NOT- DEVIATE FROM THE CONDITIONS DETAILED ON THIS
DOCUMENT. -CONSTRUCTION. SAFETY AT SITE IS THE CONTRACTOR'S -RESPONSIBILITY,

(c) THIS P.ED. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS,

(&) THIS PED. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
PREPARED 1T,

~

1. SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM FANEL IN ACCORDANCE WiTH
SECTION 1715.8.3 OF FLORIDA BUILDING CODE, ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABELING TO COMPLY WITH SECTION 1715.8.2 OF THE FLORIDA BUILDING CODE

FLORIDA BUILDING CODE (Non High Velocily Hurricane Zone)

@ YOS —
N ©2011 TLIECO, INC. 0.040" BERTHA ALGMINUM STORM PANEL| we./messe.
S e (2.25" DEEP) DRAWN BY:
N . Stmsnr o)
N . 12/06/11
T v Z TiLTEC O .. \| EASTERN METAL SUPPLY, INC | "%
L9y A INC. 4268 WEST ROADS DRVE
RS RN b WEST PALM BEACH, FL. 33407 _
% O LLORWY JEHT TESTING & ENGINEERING COWPANY PHONE: (3013206800 A (o3 a1~ 1716 11-224
ﬂ‘;@é_ 5?5? 5‘; Q ;@ AL%« . ¢ Phane ; (‘305)”;;_5;%0;;’;9 (305)871-1531 RV, Mo DESCRIPTION DATE | REV. Mo DESCRIPTION DATE DRAWING No
LI
L A RS




14.825" (TOTAL WipTH)

8.845" (mTAL JWIDTH)
12.000" (EFFECTVE WD) 000"
I‘ (EFreCE WIDTH)
2.470" 3 Q00" Max. 2.470"
] ‘[—r“" ? o i \7/\\ 125" 2.470"
) | S . if%.s'\’sf i o [ -R.250"
' ~ 2125" | 7 T ries R l i/_ 128" 125" R.250" N R }
a = & R.125"
FULL PANEL W/ HEMMED EDGES HALF PANEL W/ HEMMED EDGES vy [ L] 8 lom e l@ | AP
N 'R N . - £ e 8 ¥ %
™ ,Lg S ¥ L v R.125 8 ¥y 075" A g: S
15.119" (TOTAL WiDTH) 9.118" roma. W) 075" 8 S 8 ~l-075" T j*‘? AR 8 1o
mmooa (EFFECI?VE WIDTH) —— 000" . 8 7« o7s"f |8 0 a
[‘*(Efmmvs WIDTH) ’ — _.‘_[ ‘
’50" 4.300" :soa" 1.500 4.500" 500" 1 ’ ‘
'J e A ) JL* »_m._.ql 1 N n - 2.250" ~—J it
s Tt N sor” 2250 —| L —
g 5 \ / & — b 2,597 " — Arss,
‘ 88 ; \ , N2 8 s w;m@
———-—-—-r“ B v . 2) *n" . , "U” HEADER ' <¢R . Ty
~ 2.125° P-——Jasﬂ — 2.125" - ~ 2,125 |- O SoaLz I:,??,ER @ 37 Max. "U” BuiLD our @ m%:*yﬁ- o \f\% Ly "
OFTIONAL FULL PANEL W/0 HEMMED EDGES — OPTIONAL HALF PANEL W/o HEMMED EDGES e §’
)
3
)
O STORM PANEL §
SCALE : 3/16" = 1" 2
-, 1747 8 308 s -
Tﬁ-ﬁ: —_— 083
8 % § " -R.125" .188" | | 'f'"
N -'4{— R.125° 1.25" Mox, .1 n ' g ) o
:;ra-zso" ; et q % i 3-— 095" T fé{:fﬁg%ﬁ\\ § e
20 e I N = 1 ‘
) . Lrsso -~——I -8 f}TEﬁNATE o« ] T
J.000" Max. LOCATION ) d -L——~2.000
‘@)3 ANGLE BUILD OUT Bﬁi’C‘KET l7 REVERSED “F” ANGLE TRACK @ "F" TRACK ANGLE @ %2 JDL
SCHLE + 3" = SONE » 375" = 1* SOALE : 3/8" = 1° SOALE [IFE" = 1°
:' i—-oa:" .
094 2/18° (3)5/8" HOLES AT L
ALUNUM TOP LINE N
) : PLATE _\ ] l ’% ‘
i'“ I i P 1 \" é - T 8/16" HOLE a
k 5k 5 \ )
! 5 2) 5/16" HOLES 3 3 5
il N ZEREE | S AR
083 / ___l S5, MASIINE Seman AP CoNS a T_ T
ok ‘l - -2,950“
Hbzr s d [T — - |
L T 17 ”, », t 4 3 -
sl (17)2.1/4%1%.040" FLASHING ANGLE
DETAIL 12 sro wy o casr zme _ ’ O 1) KEY_HOLE WASHER Tl 12" " SeALE: 318" = 10
CKEL PL AP \ s a . .
NICKEL PLATED WING NUT (OPTJDN 70 1 0) slosx;w ;z” , _.u.:or 14
L AT 2 5 * Y ol = ]
(6)3/16%7"14” LONG WAL PLATE COMPONENTS
E "r__ )‘{z;%) smsﬂsgzg SCALE: 3/18" = 1* r— -
‘ el VAT FLORIDA_BUILDING CODE (Non High Veloclty Hurricane Zone)
(5" 5 2hmon £ 02011 mECO, N {0-040" BERTHA ALUMINUM STORM FANEL| te/mesas
\ e (2.25" DEEP) oRAMN B
\ SEE i .
s , 12/06/11
_______ i r ] EASTERN METAL SUPPLY, INC DATE:
PP S — ILIECO. SR
@ 2°x5"(MAX, )x1/8% (hiax) T s aw Cii”gcsf ﬂ“&’!ﬁ&”&‘%ﬂ%"fﬁgs PHONE: (561)209-8263, FaX: (561)841-1715 11-224
k w[ Fhone ; {JD&,?;EB /5;?70 6‘7,,:9 (305)871-1531 T N P RETTES DESCRE TN DATE DRAWING No
SCALE: 3/8" = 37 w;_qiLDEHf?DAA. ing g BE : sw 5',"';5 ’2/‘:5/” 2 { SHEET 1A OF 15




— TOP TRACK
(SEE COMPONENTS, SHEET 14 OF 15)

CONCRETE ANCHORS (SEE SCHEDULE) 5
ax,
1 Min.

i |
-
i
|1
]
L1
§

1

I

-1
1

-

!

-
|

-
i

f

i

—
§

-

I

d
|
1
[

1

!
-
1

:
1
i

§

i

i

i
-~
1
-
i
-
1
—
}

]

1
-7
I
hate |
|
-
i
—
i

i

i

4

i
-
1
——
i
-
I

)

]
-
1
=1
|
—
I
-
I

i

i
!
i
-
i
-
i
-
i

]
o
1
-7
i
-
i
—
1

1

|
-7
i
|
i
—=
—

~——L = PANEL LENGTH (SFE SCHEDULE ON SHEET 10 OF 15)

J’ | ne T ‘ un
e , I-
3 CONCRETE ANCHORS (SEE SCHEDULE) e 37 o]
e Max,
L 1 Min.
BOTTOM TRACK

STORM PANEL TYPICAL ELEVATION (SEE COMPONENTS, SHEET 1A OF 15)

SCALE ¢ 1/8" = 1”

iyf’”d’lﬂﬂﬂ” )
-+ {~7/4" Max. GAP 174" May. CAP | |u.
N\) ﬁ TP, N i
NS N SN TN TN\ 7 N SN TN ‘

: : e FLORIDA BUILDING CODE (Non High Vsiocily Hurricane Zone)
\ ©2011 TLTECO, INC. 0.040" BERTHA ALU/kf/NUf‘v’i STORM PANEL| resmepme. |

(2.25" DEEP) DRAWN By:

— 12/06/11

SECTION A—A / IiLIEco EASTERN METAL SUPPLY, INC e

SCALE ¢ 1/8" = 17 ' chuded W M e R

- = 555w tom 4 it SNCINEERING COMPANY PHONE: (361)209-8263, FaX: (551)841~1716 11-224

Phone : '/305)82'—;’_5;20;;;9 (0sja7i-1631 FEV. We DESCRIPTION DATE | FEV. No DESCRIPTION DATE DRAWING No
Wy P T R s SHEET 2 OF 15




TAPCONS, £LCO mole/

female PANELMATE OR
CALK~IN ANCHORS

(SEE SCHEDULE FOR SFACING).

250"

POURED

CONCRETE u
REQUIRED —‘\\L
; A

|

|

|

|

|

7" MINIMUM ;\,Vﬂ 3
SEPARATION TO ’
|

|

|

|

|

|

|

l

EXISTING GLASS

|

7z j/ s
g 7

POURED -/ ud é

CONCRETE i
b
44

OR CONCRETE
|

Cont,

Max.

Max. PANEL LENGTH {SEE SCHEDULE)

BLOCK WALL
REQUIRED
»:._—_“3
7

TAPCONS, ALL POINT SOLID-SET.
ELCO male/ female PANELMATE

OR CALK-IN ANCHORS
(SEE SCHEDULE FOR SPACING,).

SECTION @ ANCHOR

TAPCONS, ELCO male/
female PANELMATE OR_
CALK—~IN ANCHORS

(SEE SCHEDULE FoR SPACING).

T

|

POURED W

CONCRETE
REOUIRED \\L

S0
Max.

g

L 1" MINIAUM ——er |

SEPARATION TO
EXISTING GLASS

—

, 1/4" a-20 x 1*
5.5.M.

Max. PANEL LENGTH (SEE SCHEDULE)

.M.5,
W/ 7/8" a x 3/33"
WiNG NUT @ /.
J 120, ¢
S )
7
o
) 7,
POURED g 1Ll
-CONCRETE e
ORCONCRETE e
BLOCK WAL |
REQUIRED . — AR
/ I
3 =
o 7
o
TAPCONS, ELCO -males] @ ”
female PANELMATE OR
CALK~IN ANCHORS

(SEE SCHEDULE FOR SPACING),

6 )Coni,

TAPCONS, ALL POINT SOLI~SET OR
ELCO male/ female PANELMATE
OR CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING). ‘\

B

Cont,

N

VN

»
POURED S
CONCRETE )
REQUIRED u

L 1" MINMLM ——sf

SEPARATION TO

EXISTING GLASS -

1/4" 9-20 x-3/4" S.SM.S.
W/0.675" x 0.675 x 1/8" SQ.
SCREW HEAD AND W/7/8" x
3/32" WING NUT @ 12" 0:C.

T
<E

WING NUT ©
12" o, ¢

1/4" 6~20 x 1" |
SS.MS

W/ 7/8" g x 3/32"
2" 0, ¢
/, E /r(// Ve .

Maox. PANEL LENGTH (SEE SCHEDULE)

\

PN~ /
POLRED -/ i v,
CONCRETE [ e
OR. CONCRETE ]
“BLOCK WALL
REQUIRED —

/_

/ 3
oS
TAPCONS, ELCO moles// 9§

female PANELMATE OF //
CALK~IN ANCHORS
(SEE SCHEDULE FOR SPACING).

6 )Cont,

T 7T T WALL MOUNTING INSTALLA TION WALL MOUNTING INSTALLATION
] g SECTION 2 SECTION 3
| | ® g SCALE ; 3/8" = 1* SCALE ; 378" = 1
; by
/f vz | | a
RS
- £ D = e
o t ’ ~7/8" x 3/33" t% (31:%- gé\fq?ggé ON
" Wi i @ SHEETS 10 OF 15)
! | REAC -
b
2858055,
oo | e,
OR CONCRETE Xy e T PZ(‘{;Q N
s * N o
, & RS % FLORIDA_BUILDING CODE (Non Migh Vslocity Hurricane Zone)
\‘@CM | NOTE_FOR COMBINATION OF SECTIONS : - - % pPyva——— D040 PR A(QA é gw/gggpjsmmw PANEL] Le/resae.
MWALL/FLOOR/CEILING MOUNTING SECTIONS ¢aN BE | & & T 25" ORAWN BY:
SECTION @ _STUp COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. 1. 3 * L/ % D7 : * R i EASTERN MET AL SUPPLY. INC 12/06/11
A Al ~ 29 JSTATEOF N [ , ’ DATE:
WALL MOUNTING INSTALLATION 13 S/ Titleco oo\ N aSTAL SUPP!
SECTION 1 AR X NI G gt e ESTING & 15 oG (COMPANY PHONE: (561)208-8253, FaX: (561)841-1716 171-224
SCALE : 3/8" = 7+ o, éi Qgﬁf AL %% ﬂéﬁ% Phone (J05)87£1_Bfgsésf;; g ¢asjazi~ia3t REV. No DESCRIPFON DATE | REV. No | DESCRIPTION oATE DRAWING No
: 38" = ’@,WM”H eaf WALTER A, TILLIT Jr. P.E ; ob oa-re5  lrzoes] "3 SHEET 3 OF 15
FLORIDA Lic. # 44167 2 &




TAPCONS, ALL POINT SOLID-SET ©R

CALK—~IN, ALL POINT SOLID~SET OR
ELCQ “male/fernale- PANELMATE
@ (1/4'8-20 SIDEwALK BOLT OR @
W/1/4"8~20 TRUSSHEAD BOLT + +
(SEE SCHEDULE FOR SPACING)

7/8"8 x 3/32"
WING -NUTS @ 12" p.C.

7
Tt - -
POURED Q_ //
CONCRETE L
REQUIRED

)|
!

— —— —

A

J¥
¥

L-~ 1" MINIMUM

SEPARATION TO
EXISTING GLASS

‘ |
|
|
l

POURELT™ 4/4;// 7

CONCRETE /
OR CONCRETE Wi .
BLOCK WALL
REQUIRED

- 7/8' x 3/32"
WING -NUTS @ 12" 0.0,

|
l
!
| :
I
I
l
[
|

Max. PANEL LENGTH (SEE SCHEDULE)

7
ELCO. moale/female—FPANELMATE OR~
CALK~IN ANCHORS /
(SEE SCHEDULE FOR SPACING).

Cont.

SCALE : 3/8" = 1"

LE D = EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 OF 15)

{SEE SCHEDULE FOR SPACING),

TAPCONS, ALL POINT SOLID-SET,
ELCO mole/female PANELMATE
OR CALK-IN ANCHORS o

(SEE SCHEDULE FOR SPAC/NG).\ //

1/4" 6-20 x 3/4" S. S. M. S.

SCREW HEAD AND W/ 7/8"%3/32"
WING NUT @ 12" 0.¢.

7
2
7l
POURED
CONCRETE
REQUIRED

o
ui 7
[—— 1" MINIMUM —

SEPARATION TQ)
} EXISTING 6LASS |

{ l

LA

Z

\w/ 0.675" x 0.675" x 1/8" 30,

\

L ¥
T/ B-20 % 17 S.EMS.
W/ 778" 8 x 3/32"
WING NUT ® 12" 0. C. |

]FINIEHED WALL
| (w/ stecoy \

// //[/;/4// % /
pouren —" ’ '

e

CONCRETE S //
OR CONCRETE i

BLOCK WALL

REQUIRED

Mox. PANEL LENGTH {SEF SCHEDULE)

L I=
TAPCONS, ELCO mole/ —/—
fernale PANELMATE OR
CALK—~IN ANCHORS

NOTE FOR COMBINATION OF SECTIONS -

+

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED iN ANY WAY TO SUIT ANY INSTALLATION.

+

SIDE WALK BOLTS ARE 3 4'*'#X3/52'7H/CK
HEAD MACHINE SCREW H

+ 4+

TRUSS HEAD BOLTS ARE 1
HEAD MACHINE SCREW W/LE!
AS PER NOTES A2 & B2 (SHEET 1)

SCALE : 3/8" = 1

587 FEFF. LA T,

g40f if =
%%ééz\‘{g%\ E}\ ng{“isﬂ?‘ﬁ%ﬁ?&

RS AGIPT van,,
QR o
55 &? ﬁ?@g L
3 3 R e o
) . o
§ AT
% * 27 i”i
WFA7
AS PER NOTES 4.2 & s.é (SHEET 1) %“% TA e
- ° N \ .
“ax 1,/8"THICK = G- LORVDY "
NGTH Iy {:&;}43
%’gﬂ’ t}iG%AL o .
055552099

TAPCONS, ELCO male/
female PANELMATE OR
CALK~IN ANCHORS ™
(SEE SCHEDULE FOR SPACING),

Cont,

250"
Max.

POURED <
CONCRETE w
REOUIRED

222

17 MINIMUM
SEPARATION T
EXISTING GLASS

DN
\T
TEAT
|._! 500"

—

CONCRETE

OR CONCRETE o S
BLOCK WALL ,_// 8
REQUIRED

174" a-20 x 374"
BOLTS W/ 7/8% x
3/32" WING NUT & —
12*0. ¢

7

.

TAPCONS, ELCO male/

femole PANELMATE OR
CALK—~IN ANCHORS

{(SEE SCHEDULE FOR SFACING).

Ol

@‘Cant‘

Max. PANEL LENGTH (SEE SCHEDULE)

ALLATI

SCALE : 3/8" = 1"

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

Q2011 TILTECO, INC.

L/ hLlECQ mcx

TILLIT TESTING & ENGHWVEERING COMPANY
6355 NW. 36th, St, Ste. J05, VIRGINIA GARDENS, Fl. 33768
Fhone : (305)871~1530 . Fex : (J05)87i~1531
EB-0006719
WALTER A TILLIT Jr. P.E.

FLORIDA

0.040" BERTHA ALMA{//NUM STORM PANEL| ve/mese
(2.25" DEEP) DRAWN BY:
- 12/06/11
EASTERN METAL SUPPLY, INC DATE:
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407 11=224
PHONE: (561)209~8263, FAX: (561)841~1716
REV. Mo DESERIPTION S4sr REV. No DESCRIPTION DATE DRAWING No
! 20 caied _pamer]  f SHEET 4 OF 15

Lic. # 44767

4




CALK—~IN, ALL POINT SOLID-SET OR
ELCO moleffemale PANELMATE @-

W/ 1/4%a-20

TAPCONS OR CALK~IN ANCHORS

%j/ﬁr—za SIDEWALK BOLT OR @&

W/
SS)

(SEE SCHEDULE FOR SPACING)

POURED Q,‘
CONCRETE L
REQUIRED

00

CALK—IN, ALL POINT SOLID-SET DR\

BOLT + +

(SEE SCHEDULE FOR SPACING). "\

POURED
CONCRETE

g

f

i
1 MiNmy ||
SEPARATION 70 ™
EXISTING GLASS

:\\ \
N
\

POURED o % 3
CONGRETE y

OR CONCRETE 7
BLOCK WALL j

REQUIRED ;

I ;l\
| |
|(|[\‘_
s =

REQUIRED

7/,// ////
1

l
|
|
|
|

7" MINIMUM 1
SEPARATION 10
EXISTING 6GLASS

A

¥ l

1

7/8% » 3/32"
WING NUT @\

Max. PANEL LENGTH (SEE SCHEDULE)

HEDULE) — ]

8¢

LENGTH (SEE

r

i

’ 120 ¢

’ ALTERN?":Z_Z&"\ 0(6?__.!‘" | )
i' - LOCATION

P

Z

| pi

(SEE SCHEDULE FOR SPACING),

N

ELCO moale/female PANELMATE ©
W/1/4%8-20 SIDEWALK BOLT OR @

10 W/

W/ 1/4"%-20

TRUSSHEAD BOLT + +
(SEE SCHEDULE FOR SPACING)

L MOUNT

SCALE : 3/8" = 1"

POURED
CONCRETE
REQUIRED

P 1
N\ e Max. PANEL

&
NN

LW
TAPCONS OR CALK~IN ANCHORS / e £,

AVALID ONLY FOR Mo
!PSF

TAPCONS OR CALK~IN ANCHORS

TAPCONS OR CALK-IN ANCHORS

L

(SEE SCHEDULE FOR SPACING). }e——F. D,

POURED \r
CONCRETE: } 7
REQUIRED £o. Uf‘m L
v i r oA
7 V/j %
E 1 1
! o
I -
4 ) tont,

i
|
f
|
|

7 MM |
SEPARATION 10 |
EXISTING GLASS

A

é an

7\

r ¥ {

|7/8% x 3/32"

e Max. PANEL. LENGTH (SEE SCHEDULE)

|
ngcam.ér ® }
12" 0,
I | | "@
) S I
! CoRt. I
| T I
S
7,
7 vy //ﬁ' %/ / 97
meli2

(SEE SCHEDULE FOR SPACING),

P / _
Lf / .
TAPCONS OR CALK~IN ANCHORS
POURED /s

SCALE :

3/3» = 1"

ALTERNATE CEILING & FLOOR MOUNTING INSTALLATION — SECTION 8A r
%. A.S.D DESISN FRESSURE RATING OF +78, -75

-

—
oy
(s
S

CONCRETE
REQUIRED

(SEE SCHEDULE F@ SPACING).

i

////%f%%/////

ALTERNATE

LEG LOCATION <=

1" MINIMUM

U

|
|
|
|

73547

POURED f—1" 4]
CONCRETE hh
REQUIRED

TAPCONS OR CALK—IN ANCHORS
(SEE SCHEDULE FOR SPACING),

SEPARATION 10~
EXISTING 6LASS

Cont._
7 s "

©

poe e Max. PANEL LENGTH (SEE SCHEDULE) ——o ]

\“JERNA TE

LEG LOCATION

£ D. = EDGE DISTANCE FEIE S,
gs&;_E TSC}SEDULESON o §9BIET "
- L T
HEET 10 OF 15) @‘ggij\%% A. ?!g{{f;}j%;@
§ &3‘ ﬁvx{: ENG . D= FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
S ¥ 5 I ©2011 TLIECO, INC. 0.040" BERTHA ALUMINUM STORM PANEL] ievmerae
e T ° =, i3 =~ .
= N ‘ﬁﬁw‘sg-«ﬁ% ~ 3 (2.25" DEEP) DRAWN BY.
" n R T IR N
NOTE FOR COMBINATION OF SECTIONS : g“gﬁj Mﬁ:gﬁigjsscsgﬁ 5,4?5%2‘;{_}32 THICK S % ¥ LS ?fy& L % E AQTE N MET AL SUPPLY INC 12/06/11
AS PER NOTES A2 & B.2 (SHEET 1) 3 3 j’i - i ;7 3 i 'L IE c o STER 5 DATE:
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE + o+ = “‘% <" STATEOF ’ & 1 iNc. 4268 WEST ROADS DRKE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION, TRUSS HEAD BOLTS ARE 1/2"8x1/8"THICK . RSN T WEST PALM BEACH, FL. 334 _
k HEAD MACHINE SCREW W/L/ENGTH/ = C%\ Qggig% o g‘é sgisl'gw Tsé;fnr '.e'ff.?s;f 52,’“5/}%”%55 %f"}‘}f{& PHONE: (561)209-8263, FAX: (561)841—1718 11-224
AS PER NOTES A2 & B.2 (SHEET 1) BN SN AL L N Phore ; (305)871- 1530 . Fox + (30518711033 DRAWING No
Z = ”5}5‘? °°°°° . E sy g EB—0006719 Y. Mo DESCRIFTION o478_| #Ev. Mo DESCRIFTION 2ATE
=, N U WALTER A. FLLIT . P.E : oD co-1as_ lzepd s ) ‘
i, ONAL NI FLORIDA Lic. 4 24167 z 7 SHEET 5 OF 15

CEEIE



TAPCONS, OR CALK~IN- ANCHORS
TAPCONS, OR CALK—IN ANCHORS (SEE SCHEDULE FOR SPAC/NG)\ N
TAPCONS, ELCO male/ TAPCONS, ELCO male/ (SEE SCHEDULE FOR SPACING). £ D <] E D.
“female PANELMATE OR female PANELMATE OR POURED } :
CALK~IN ANCHORS w : CALK~IN ANCHORS ‘ POURED \ CONCRETE | \
| (SEE SCHEDULE fOR SPACING). L o8 . . (SEE SCHEDULE FOR SPACING). 5 CONCRETE 1 REQUIREE—\ —E0.—+-£0
i E.:: _ _.T‘ @gi ‘~T :gé ‘\]‘——EO'_T EO._"i N \ N 5 N \\f\ \ \
, ‘ POURED i & NS NN NOR
N e — , > - IR
3 \ | [ ] T A g%
o - N N S
¢ \ ' . :
REQUIRED N | @ eont | o ® cont | ' N ot | | Cont.
, —® ,
ANANNANRRNSN | | & ' | | | .
| | | SN | N
/] L o
EXISTING } : / ' '
OLASS ' I l s GEL)ZggNG b 1 MINIMUM —-‘—--&l [ ’ ] ’ l‘t® g 1" MINIMUM _____J } L"@ Ly
| 3 SEPARATION T0 Il 9 8 i AN . 3
| | 3 EXISTNG cLASS | g | fol g EXISTING GLASS | B 3
£ & 2
1" MINIMUM —— b B | Ll 3 | | " f ]
| Evrg GLass 8 [ | L] g | i
EXIS A o g | Q v—ﬂ, £ | z
AN—— z 4 | - ‘ | | g
t | g l P g | = : g
g I l 2 - g
! | I g ! g g . g
I . | g | :
1/4" @-20x1" ¥ ' o 1" MINMUM | | = l ‘ | 3
BOLTS W/7,/8%x | 3 | | g SEPARATION 70 i $
3/32" WING MUT @ . | : EXISTING GLASS , | P
12" 0. c. I J 1 e | Lo
O | R Py 332" Co
v | /I V% [ |2 | .
. 3 22"
) PRIk 0 | gy |l Ly
s BOLTS W/7/8"x Cant, , e oE | | 1zho e ‘
| . e 5/32" wivg Nur £ ALTERNATE-LEG. . | - <7a
POURED Q . 12" 0, ¢ r——LGCAT/ON . |
CONCRETE Lo ) | l = __ 7| = cont, \
OR CONGRETE l POLRED g 77 /r ALTERNATE LEG I
BLOCK WALL R CONCRETE | I ™~ I, 4 / oo T \
REQUIRED OR CONCRETE = | " /‘“ ~ ‘] L f i
oS = . B S _} > 7 / //
TAPC?N%%%A;?%Q § j L . - Concrere TAPCONS, OR /J g /l/lr TAPCONS, O EDGE' OF
female A 3
AL ANCHORS (8)cont. ]r_:%f LY REMOVABLE el @ REQUIRED (v e T oriome . __’ || _PouRED / CALK=IN ANCHHORS Ju / A
(SEE SCHEDULE FOR SPACING), TAPCONS, ELCO male/ ] CONNECTED 10 (19) THRU 5/8" (SEE SCHEDULE —/ CONCRETE (SEE SCHEDULE L
female PANELMATE OR | /| ‘ HOLES AT (j6) @ 8" O.C & FASTENED FOR SPACING), REQUIRED FOR SPACING). E.D.—
SECTION 10A CALK~IN ANCHORS AT REAR W/7/8x3/32" WING NUT INTERIORLY REMOVABLE PANEL@
144 , (SEE SCHEDULE FOR SPAGING). Cont. @ EVERY SIDEWALK BOLT. W/SIDEWALK Engs ( ﬁ;i R[L}/Erg,lﬁa“w
CONNECTED
p ’ j .C & FASTENED
] SECT{ON 1 !A SECTION 118 Hf #EEE:,; Zylf/??;sasx?ﬂz W[WGES‘L’;
L 5.5. SIGEWALK BOLTS, ‘ ~ " " . @ EVERY SIDEWALK
o ;/::‘éag %éog&f;g«@ﬁgﬁﬁg SECTION 108 CEILING & FLOOR MOUNTING INSTALLATIONS
7 - i o . iy e = | N
O_\ / M%L}fgaﬁ?vﬁ gfj? ae ) 7 7 . SECT/O;YS ’1 7
/@ ” SCALE : 3/8" =
@6 0 C h\
T
| ‘ | . )
oo FLORIDA_BUILDING CODE (Non Hfgthe:G’f;Ax:jZ"‘“ﬁ iﬁf‘/’f’f
} B./R.E./AC.
R g @2017 urECo, e 0.040" BERTHA(ZAi U,w/gfé_ gfig TORM ORAWN BY:
' ED. = EDGE DISTANCE =3 e 12/06/11
b .__é £E _SCHEDULE ON s 7
1875" ST FeoNGCA4TB7 S} EASTERN METAL SUPPLY, INC DATE:
5 VS liLlEco .. TR ey 1 1-224
.04 - ac NOTE FOR COMBINATION OF SECTIONS : gt STEOF <o TiLuT, TESTING & ENGINEERING COMPANY. PHONE: (561)209-8263, FAX: (361)841— R
IZi’!” EE z EE. Zn WALL /FLOOR /CEILING MOUNTING SECTIONS CAN BE :&L % py oA &35 Phona : (305)871~ 753?705;;79 (305)871 1531 i DESCRIPTION DATE m‘m DESCRIPTION P—
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION, T % q(gm {)?‘@x “1@5 %’E’)‘?}Zﬁ“ﬁ % e : o 7 SHEET
m‘%ﬂfﬁqﬂﬂ{_m&ﬂ 2 S8 e o




TAPCONS, ELCO male/
female PANELMATE OR

OR CONCRETE — 4
BLOCK WALL

TAPCONS, ELEO mals/
A female PANELMATE OrR~

CALR-IN ANCHORS
(SEE SCHEDULE FOR

|
|
|
|
|
|

POURED
CONCRETE

REQUIRED

=

S

SPACING),

SECTIONS 124

7 1/4” 6-20 x 3/4"
BOLTS Wy 7/8%x |
3/32" WING NUT @

8

£

. = EDGE DISTANCE

(SEE SCHEDULE ON
SHEETS 10 OF 15)

\? () CALK—IN ANCHORS
Y § (SEE SCHEDULE FOR SPACING).
BN (i
POUREDA—J&
CONCRETE ——A (N
REQUIRED & ,
|
N |
|
| |
| ]
f ' ‘ |
: Q
| | I -
| g
” | | 5
1" MINIMLUM . 4
SEPARATION TO ‘““”—l ! ’ 8
EXISTING GLASS
! :
A —— | :
i
:
§ ,

12" 0 ¢

Cont.

NOTE FOR COMBINATION OF SECTIONS -

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY 7O SUIT ANY INSTALLATION.

N

C =

=4

TAPCONS, ELCO male/
female PANELMATE OR
CALK—~iN ANCHORS

S (SEE SCHEDULE FOR SPACING).
'S

S

250"
Max.

POURED L
CONCRETE ——1
REQUIRED Q
L

N

{ o (11/4"-20x1/2" 88, —
i SIDEWALK BOLT Wy'

1/4°-20 JACKNUT
(MOUNTING BOLT)

1" MINIMUM

EXISTING GLASS

(3)1/4"-20%1/2" 5.5
SIDEWALK BOLT W/
1/4"~20 JACKNUY
(2) AT FRONT FLANGE

SIDEWALK BOLT W/
1/4"-20 JACKNUT EA.
OVERLAP FLANGE

(3)1/4"~20x1/2" $.5.
SIDEWALK BOLT W/
1/4"-20 JACKNUT

(2) AT FRONT FLANGE

.

SEPARATION 70

|
I

|
|
l

"

o

L

8
g —]
o

£A3

T

|
2]

2"
OVES

i

LA3

Max. PANEL LENGTH (SEE SCHEDULE}

/A

a9 712 e |
S 1PENI‘?AT#ON_

S :'f;,:“
,5’-/13 A
] /

b

' \ EXISTING

BRICK VEENER

L. 1500"

/

WALL REQUIRED

N
POURED CONCRETE / \
OR CONCRETE BLOCK

Z;/#’,ax?" £LCO

AMCHORS (SEE
SCHEDULE FOR
SPACING).

male PANELMATE TVAS

STEEL ANGLE LINTEL
AS APPLICABLE

l
EXISTING ]
l
1" MINIMUM SEPARATION ’

/\/TO EXISTING GLASS

_EXISTING
BRICK SILL

1/4" 0-20 % 3/4"

POURED
CONCRETE

OR CONCRETE .
BLOCK WALL
REQUIRED
- /

TAPCONS, ELCO mate/
fernale FPANELMATE OR

CALK~IN ANCHORS —
(SEE SCHEDULE FOR
SPACING).

|
|
|
‘ (2)1/4"~2021/2" $.5.
|
|
!
|
|

1/4" 820 x 3/4”
BoLTS W/ 7/8%8x _|
3/32" WING NUT @
12" 0. ¢

“ets00000090%°

-
L

e
|

POURED CONCRETE
OR CONCRETE BLOCK

1/ MING ,
" PENETRATION 7O . ! .

- (CONCRETE BLOCK) -, :
C & 112" : -
- (CONCRETE) .

BOLTS W/ 7/8"8x
3/32" WING NUT & -]
12" 0, ¢

EXISTING ‘
| (FLASHING IF
APPLICABLE

.

\ .

i)

Max. PANEL LENGTH=102"

&

WALL. REQUIRED

1/4%0x7" ELCO rnale
PANELMATE TVAS ANCHORS
(SEE SCHEDULE FOR SPACING).

BUILD QUT INSTALLATION

SECTION 13

SCALE : 3/8" = 1°

207

Cont,

3 12" —

MAX

EXISTING
BRICK
VEENER

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2011 TILTECD, mE.

[ |IL|ECO.N:\

TILLIT TESTING & ENGINEERING COMPANY
€355 M.W. J6th, St Ste. 05, VIRGINIA GARDENS, Fi. 33168
Phone : (305)871-1530 . Fox ¢ (305)871- 1537
EB-0D06719
WALTER A. TILLIT Jr. P.E
FLORIDA Lic. # 44167

0.040" BERTHA ALUMINUM STORM -BANEL LG./RE/AG.
(2.25" DEEP) DRAWN BY:
N ! ; 12/06/11
EASTERN METAL SUPPLY, INC DATE:
4268 WEST ROADS DRVE
WEST PALM BEACH, FL. 33407 11-224
PHONE: (561)209-8263, FAX: (56108471716 2
HEYV: Ne ON 24T | REV. No DESCRIFTION DATE DRAWING No
Spoa e paoeniy 3 SHEET 7 OF 15

*

il
SHEPEES T



(1)1/4"-20%1/2" S.5.
SIDEWALK BOLT W/
1/4"=20 JACKNUT \
(MOUNTING BOLT)

CONCRETE ANCHORS (SEE SCHEDULE)

(3)1,/4"~20x1 /2" S.5.
SIDEWALK BOLT W/
1/4"~20 JACKNUT
(2) AT FRONT FLANGE

1/4” Max. GAP

1/4" Masx. GAR 77
I P
AN AN @ VAN

> T

o \ 0 o/ [}
r - /- """F’["‘V T
] / ¥ VoI - g ]
o SECTION B’-B
| 4*/ // \J | SCALE : 1/8" = 1”
\ —— S
AV A AV ~d -~
: b
HI L s ‘ » D
N e (WHOLE) ~{WHOLES) 14" 2021" 5.8 (WHOLE)
] BUT NOTCHED L4 20x o
®\ ] "y Ar iy ev. & EA CORNER @ IDEWALK 1
S . / pd : g% BOTTOM AS [ SEE DETAILS 2/86,
(WHOLE) | [T HI T ﬁ’ »Z 1\ - | SHOWN. 2/14
s A A A
, ) (wHoLEN N | v 8% VT
RO iny % A 2 %
| N— g B ﬂ?r
i 4 A
%]
a AN . INTERIORLY REMOVABLE PANEL
é e : B < el / = W/SIDEWALK BOLTS (SEE ﬂETA/:@
b ol 4 = A , 2/6, 2/14) CONNECTED TO (8 THRU
: 1 U * % 2 o 1T 5/8" HOLES AT (8)@ 6" 0T &
, 7 ¥ AN ) 4 NI / 71 4 ; FASTENED AT REAR W/7/8'8x3/32"
1 , o H7 A4~ pk= o ST : i WING NUT @ EVERY SIDEWALK BOLT.
y A N :}H E: E&%;_A_ acd| ﬁ&éﬂ%aaw o
- & ”
, A N W { - 2" N®or &)
A - ::'\ " .
N 1 | 108/6,118/6, =B»10A/8,11a/6,
,"><>/ 4 10B/14,11B/14 10A/14,11A/14
N 1 ~ 3" CONCRETE ANCHORS (SEE SCHEDULE) 3"
@ | X Ve / , 3
‘{ ; £ © JM%F). /V%'a.
() 2)1/4"-20x1,/2" 8.8, : -
S INTERIORLY REMOVABLE STORM PANEL
P128/7,138/15  Lpioss7, 138/ Bvenian HCKNIT EA PARTIAL ELEVATION Y
3] CONCRETE ANCHORS (SEE SCHEDULE) 37 (3)1/4"~20x1/2" 5.5, SCALE : 1/8" = 1°
Mo M. SIDEWALK BOLT W/
Min. o,

1/4"-20 JACKNUT
(2) AT FRONT FLANGE

INTERIORLY REMOVABLE S TORM PANEL
LLEVATION .

’;/)8“ ; 711

SCALE : 3399009055,
» ¢! f@y@
ﬁ"&“” Max. GAP 7/4__/-\[403. GAP @5% %}:;-E% A. ?ﬁ’ =,
NN 1 \i . X S . , ;
NN / \ LT % FLORIDA BUILDING CODE (Non_ High Velocity Hurricane Zone)
. P i : ° T 75
A\ R AL G R ©2011 ILTECO, INC. 0.040" BERTHA ALUMINUM STORM PANEL] Leymr as.
N N . 7 : 3 (2.25" DEEP) » DRAWN BY:
3 o :
\ 12 /6 ,4%’;; h- ‘ ] 12/06/11
1 SPLICED PANELS ES Q;« ‘! j G% o~ é‘ / l !_El EASTERN METAL SUPPLY, 'NC DATE:
SECTiQ N B— @ 1/3 OF L Y {E} " é' ORinN | %gfé, & LL CO INC. 2258, MesT Ronos. oRE
e D .4 o Y e iaeet” R ? = £S7 H. e i —
SCALE : 18" = 17 > ‘g"@y AL ERES et p g TESTING & ELGUNEETING COMPANY. PHONE: (561)209-8263, FAX: (561)841~1716 11-224
“’«-zy% s ’:: el Phone : (305)8757;5;;05';’;9 (303)871-1531 ™ DESCRIFTION DATE | REV. N DESCRIFTION DATE DRAWING No
sass8597 WALTER A‘L%L}r o PE . o o545 __|ajonry 3 SHEET 8 OF 15




VARIES .J"”
POURED CONCRETE

Max, l
OR CONCRETE BLOCK

POURED CONCRETE
WALL REQUIRED

OR CONCRETE Bmcm
, WALL REQUIRED
“®

CONCRETE AN
@D o

2.500" Min.
! ICHORS
@ 12" 0. ¢
BEGrer
CONCRETE ANCHORS
@ 12" p, ¢

wd
2" % 4" % 125"

F105~H14 OR 6063—T6 ALLOY
Cont. Alum. ANGLE

}
I VARIES 3

”‘n Max.
I
f

d

2° x 2" x 055" 0

ALTERNATE LEG LOCATION
2" x 5" x 055" Cont
Alum. ANGLE OF
@@= @®

CASE A (Plan) 1

METAL Alum. BENT PLATE
\ : \ '
SCALE: 1/4" = 1”

WAIACKNUT |

4" x 4" y |

CASE C (Plan)
073"
3105-H14 OR BUEI~TE ALLOY
’ Cont, Alum, ANGLE
CASE B (Plan)
2%% 3" % 093" J105 +H—14 OR

SCALE: 1/4" = 1"
BO063~TE ALLDY Cort, Alunv. ANGLE \
WITH ANCHORS .@ 12" 0, C.

SCALE: 1/4" = 1"

—Min, \
i p— 1,50 " X “_3\
¥ POURED CONCRETE e ,
S OR CONCRETE. 510CK (REQD) N
- WAL REQUIRED \:
FPANEL X 2 L
HALF FANEL \ 5 S

~ POURED CONCRETE OR

CONCRETE BLOCK WALL
REQUIRED

CASE D (Pian)

SCALE: 1/4" = 1*

CASE E (Pian) *

SCALE: 174" = 1"
END CLOSURES DETAILS

) ggffﬁﬁﬁfﬁﬁygyy&
¥ -
535 ﬂg?\:ﬁt:’iﬁi.{f‘?&ﬁ |
SN Y | o
y v % FLORIDA BUILDING CODE (Non High Velocity- Hurricane Zone)
§ i vy 3 ©2011 TLIECO, INC. 0.040” BERTHA ALUMINUM STORM PANEL| Lre/RE/mc.
L : g (2.25" DEEP) DRAWN. BY:
S v/ “i%f gx S 12/06/11
= o A i
19, SWEOR Sac TiLlEco - \ | EASTERN METAL SUPPLY, INC | "%
NN ,":Z@qm e%f/ ¢ L] ECO INC. 4268 WEST ROADS DRIVE
= G TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, FL. 33407 11-224
=, ‘.‘?S 10 L ‘%ﬁ% g8t 6355 NW. 36th, St, Ste. 305, VRGINK GARDENS, Fi. 33766 PHONE: (561)209-8263, FAX: (561)841-1716
e, F\j A ‘ ¥ Phone : (305)87;;75;20‘6}';; 9 (305)871~ 1531 T pror— RN DESCRIFTION DATE DRAWING No
“os0000019' WALTER A. THLIT Jr. P.E. : o oa-1as__|izpasi] 3 SHEET 9 OF 15
FLORIDA Lic. # 44167 = 4




Max, PANEL LENGTH Max. ANCHOR SPACING
MAXIMUN L (Ft, 87 (n,
ngégkfbgi?% 0.040" ALUMINUIM PANEL () PANELS (D) #+
B s PR R— _ ** MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE,
78 B | 2ay | SECTOw SECTION: ALL SECTIONS FOR £ D. LESS THAN 3 1/2" REDUCE ANCHOR SPACING 8y
417 MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING
+25.0, ~25.0 o o ' gw o . FACTORS. (NOTE : Min. E. D. FOR CALK~IN ANCHORS IS 2 1/2",
12°~p 12'-0 11'-9 8'~8 12"+ FOR THIS OPERATION TO BE POSSIBLE, REDUCED SPACING OBTAINED
- USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPAGING
+25.0, ~30.0 12°~0" § 17°-5" 10'-9" 8'-g" 124 INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.
.5.30‘31 ,,,350 77’—}“ ;Ov_au 9’—77" 8"‘6" 72"1" FACTOR
— ACTUAL E. D,
+35.0, =400 10-5* | o_10n | gy 86" 1244 FPANELMATES| TAPCON | Siwin-ser | ecark—iv
#40.0, ~45.0 8 g'-10" | o—y" | g_g» &'-g" 12"t 2 . .20 - % 2
_— 2 172 i - - 50
+45.0, -50.0 o 8'-10" 1 g'-y” §'-8" 12744 2 ele — - -
B - — 1 1/2” - 35 - -
+50.0, ~55.0 B'—10" 8'~5" Py - 12744
SRS —— —
+55.0, ~60.0 88" &'~1" AL - 12744
- -ANCHORS 1 EGEND
+80.0, 650§ g-g+ § 7_g» 7'—g* - 1278 ANCHOR §
. . AR § ANCHORS | om0
0 7000 pise | ps | spe | L . TYPE SPACING
! _;.7&9‘ ~75.0 8= I &'-11" gk _ » 7A IﬁdDCON/T'_ Nl 3 .
i 1 11 &'-8 ] } 1244 PANELMATES 50
J 1750 8008 s | s-p" | gog - 12" CALK~IN 25"
+80.06, -850 g g g - " N
N &'-1 8'-1 &'~ 12 SOLID-SET 3.5
EE— B
+85.0, ~90.0 55" 5'-g” 5'-g" - 7"
, . * SEE_NOTES ON SHEET 11 THRU 15 OF
+90.0, ~95.0 § s5'_g* 5'-g" 5'-g" - 72" 15 FOR PANEL LENGTH LIMITATIONS FOR
4 ] FLOOR/CEILING INSTALLATIONS INTO WOOD
+95.0, -100.0§ 5'_pv sz | sg _ 12 FRAME BUILDINGS,
+100.0, -705.d 4=y ] 4'agy 4’;77" 7 - 19”
a A‘———-WM-'“‘“‘R—‘*,
+105.0, -110.08 4'—g* 4'~g" & ggv - ] 12" '
UGN S ) _
IO 11500 4r_gv 2'—g" £'=g" - L 12° ]
+115.0, ,,_720'.{;7 gr—g® . 2'—g” ' £'eg® _ 790 . ﬁﬁﬁ!iﬁ’@ﬁyﬁ; .
Y+1200, ~125.(6 4'_p* 42 2l - 197 ‘
i I B 1 Y FLORIDA BUILDING CODE (Non High Veslocity Hurricane Zone)
+125.0, TI0A 40" | 4 4'~0" - 12" 3 ©2017 TLTECO, INC. 0.040" BERTHA ALUMINUM S TORM PANEL| Lo mepsas.
3 (2.25" DEF} P) DRAWN BY:
T SECTION 8A IS ONLY VALID FOR MAX. A.S.D. DES, 3
" e Ao Do DESIGN PRESSURE RATING N . AP X 12/06/11
UPTO 470, 275 per § / ']"'I——-—I LIEco \ EASTERN METAL SUPPLY, INC
Max. ANCHOR SFACING FOR SECTION 8A SHALL BE 6" o, c. é,_m ST G}NE"R[N:NC. WE;ﬁgL’Xf%Jg&%f%ﬁa’ | 11-22
6355 N.w. Z6eh, 1;\/&'63; Jig VRGN Mﬁﬂzg?gpgg;’ﬁ PHONE: (561)209-8263, FAX: (561)841—1716 —<24
N_OE.' MINIMUM PANEL LENGTH /S 3 ,—O,t Phane-: (305)8 ?rgfgzgo;;:g (9)az1-1a0 REV, Mo DESCRIPTION —DATE 1 Rev. No DESCRIFTION DATE DRAWING Na ]
WALTER A. TULIT Jr. PE ; YR DL
rompa 1" 4 2i167 , ; SHEET 10 OF 15




#14 S. S. HEX WASHER HEAD

. - h T WOOD SCREWS @ 12" 0. C. W/
L ; A ; A 7_3/4" Min. THREADED PENETRATION,
# T et 1/4" 3-20 x3/4"/39trs
14 5. S HEX WASHER HEAD < : #1475, S. HEX WASHER HEAD W/0.675%0.675x1/8" SQ.
V{OOD SCREWS @ 127°0. ¢ W, ¥ . | p—WOOD SCREWS © 12" 0. C. w/ SCREW HEAD AND W/7/8"%3/32
1.3/4" Min. THREADED PENETRATION. l . / 1 374" Min. THREADED PENETRATION. WING NUT @ 12" 0. C.
. b/
o - . 250" i_ 1 . 250" \ I
Tl _‘: 500 Mox. ’ ,'l' 500 Mox. I
] 1 .
2\ |l 27\ |l ; l
Min. e ’ 'Min, i ; 7] :
——(2) cont. _ . : Minn\, ||| |
zecd N oyl | |
18323 | ey B G | §
¥ s - %
WOOD HEADER, f WOOD HEADER ’ 2 \ =0 a
REQUIRED | A REQUIRED , & WOOD HEADER | | 4
& @ REQUIRED g
| —(1) 3 | —D W |
| & . 1" Min. ‘ g ' Min | ‘é{J
| SEPARATION ) PP |
l g 70 Exsrn ] | 8 scoamTon o | Y
) g GLASS - EXISTING GLASS §
1 i | g | g
A & , Al ;
A N - - : A : :
~d A b
I : r - : - — :
’ 4 1 & | §
7" Min. In} ¥
- SEPAATION._ | 2 B I O g O
XISTING ._.(:)
GLASS | § CONT, l 1
| 3 [ |
| p 2003747 S, 8 M, s | { |
! 748" x 3432"-wiNG NuT -} o | { ar" |
® EVERY STUD @ 12" 0 | ;’ o : (/M
' Ny “’.I._/ -3 \—4/4 " B-20 x3/4" BOLTS
9 W/7/8" x 3/32" WING NoT
~/4%-20"x 3/4" 5. 5. M. 5. S @12" 0. ¢
W/ 7/8" x-3/32" WING NUT

EQ EQ.

€ 1270 ¢

- #14 5 5. HEX WASHER HEAD
WOOD SCREWS @ 12" 0. ¢, w/
1 374" Min. THREADED PENETRATION,

N \ﬂfm 5, 5 HEX WASHER HEAD
WOGD SCREWS @ 12" 0, ¢ wy
1 34" Min. THREADED PENETRATION.

#14 S. S, HEX WASHER HEAD
WOOD SCREWS @ 12" 0. ¢, ;74
1 3/4" Min. THREADED FENETRATION,

AANANA VA AN WA §

A»LTER TJVE 3 SCALE { 1/4" = 1

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION,

= FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

" LTSRS, Wt s, ooy s s, TR J0.080" GERTHA AN STORM FEL] segeens
EXCEPT THAT PANEL'S LENGTHS FOR FLOOR/CEILING INSTALLATIONS -

SHALL BE LIMITED TO 109"

12/06/11

EASTERN METAL SUPPLY, INC DATE:

2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS 7O BE SOUTHERN

N\
L IL ECOINC. \ 4268 WEST ROADS DRIVE

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

X
- WEST PALM BEACH, FL. 23407 _
5555 . NG & ENGINEERING COMPANY PHONE: (561)200-8263, FAX: (581)841-1718 11-224
“#“'ffygﬁﬁg;ﬂ £ Phane : (m)agfgzé;;;g: (esjg71-1831 ALV, No DESCHIPTION DATE | REV. o DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. 1 0D 05145 j12/08/1d 3 SHEET 17 OF 15
FLORIDA Lic. # 44167 2 .




7/16" O.D. x 5/8" LONG BRASS #14 5. S. HEX WASHER HEAD

BUSHING W/ 1/4%8-20 x-1" 000 SCREWS @ 12" 0. ¢, Wy
S. 5. M. 5. W/ KEYHOLE WASHER 3/4" Lim T PEM
A 1 3/4 . THREADED .
T : OR 1/4°8 MALE/FEMALE PANELMATE /4" Min AGED - PENETRATION.

1/4" 8-20 x3/4" 5. S. M. S.
W/ 0.675° x 0,675 » 1,/8" Sq.

>< e W/ 1 7/8" Min: PENETRATION @ 12" 0.0

. SCREW HEAD AND W/ 7/8" x 3/32"
W | [ WiNG NUT @ 12" 0, ¢,

[ B
! 1
N '
; : 1 . |
fo* : | " D i
Min\ I | I |
!' —® ‘ | -
= | | |
WOOD HEADER | ) | £
I i S
REQUIRED | 3 | __@ 3
lo & WOOD HEADER i o
A | | @ REQUIRED * W
_SePamaTioN | | S | g
70 EXISTING ! - | o
GLASS ! o 1" Min, | i
\ | ¢ 5 alN ¢
- A i ! Al3 t
. g 6LASS : 5
"\“ “*r‘“'“-lr*'" g - Apomd g
- A
| 3 — :
| S 1/4°0-2053/4" i 1 «
’ ' —1) § 3 g}fsg’{ : $
# - ” x ~E
éf/#s.p M?Og.J/V;'; f n WING NUT © !
7/8"% x 3/33" | 12" 0. ¢ |
WING NUT @ ! |
. G I
I
| . !
s, I e I
1 . . f . I
EIT-/ | ' gf \ '
- N T ,' 0’ ‘
g I Bl | .
I\\g
wW{¥H | oont.
Cont, 2" " pharel 1" VY #14 S 5. HEX wasHER HEMD
' EQUIRES w | WOOD SCREWS ® 12" 0, ¢, Wy
#14 5. S. HEX WASHER HEAD L b 1 374 Min. THREADED PENETRATION
[ i WOOD SCREWS ® 12" 0. ¢, w/ “ | © MIDWIBTH OF PLATE,
| \ Wl 7 379" Min. THREADED PENETRATION ,
! T © MIDWIDTH OF PLATE

ALTERNATIVE § = Soue: 1= 1

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN- BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

| - .@Q % . “n”‘».g &‘”/}'“ %f&;
NOTES: ' ¢ "@ <\ EN{S’@Q‘%} %

o

< #14 S. S. HEX WASHER HEAD
. WOOD SCREWS @ 12" 0. C. W/
1 3/4" Min. THREADED PENETRATION,

N NN

e I 1 ._.-*a.‘"
e
SEPARATION,

A . A
1/4"8~20%3/4" ;
55 M 5 W

. f ‘50(1“

|

1

i

i

|

|

WOOD HEADER |
REQUIRED =D

| A

i

7" Min, |

I

|

}

|

|

I

10 EXISTING
GLASS

.5 M5 W
7/8°a ¥ 3/32"
WING NUT '@
12”0, ¢

b Max. PANEL LENGTH (SEE NOTES BELOW)

. \-—5”4 S. 5. HEX WASHER HEAD
WOCD SCREWS @ 12 0. . W/

1 374" Min. THREADED PENETRATION
@ MIDWIDTH OF PLATE.

3.y

QUT _IN Tio
T/V- ,6 SCALE ¢ 1/4" = 1”

FLORIDA BUILDING CODE (Non#-lijyﬁ Velocity Hurricane Zone)

1. INSTALLATIONS ARE ONLY VALID FOR MAX. AS.0, DESIGN PRESSURE RATING 3 % 2 - . -
AND Max. PANEL LENGTH AS PER SCHEDULES SHOWN. ON- SHEET 10 OF 15 N =44 3 ®201: TWIECO, INC. 10.040" BERTHA ALUMINUM STORM PANEL| e me ae.
EXCEPT THAT PANEL'S LENGTHS FoR FLOOR/CEILING INSTALLATIONS N s s : (2.25 DEEP) DRAWN-Br:
SHALL BE LIMITED TO 109" s fjg,/ % 8 12/06/11
b ) Ry =T A ¥
2 FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS 70 BE SOUTHERN 2% : K\Tii £ OF & %,g?‘ / l"_ IEC O inc. EASTERNang;g%nggSLY’ INC e
T No. 2 W/ SPECFIC DENSITY F 055 OR EuAL = /% .%"Z@Rm%ﬂ' e TILLIT TESTING & ENGINEERING Couray WEST PALM BEACH, FL. 33407 11-224
= g?& °°°°°°°°° IS Sl 305, UGy 7. 25148 PHONE: (561)209~8283, FAX: (561)841-1716
= /) 0 M AL %ﬁ‘&‘ it T (0% B’ééw‘m Jox FEV._ No BESCRIPTION DAIE | AV, No DESCRIPTION DRAWING Ne
T L WALTER A. TULIT Jr. P.E ; 00 g1 izjagz] 3
e FLORIDA Lic. § 241567 P : | SHEET 12 OF 15




7/16" OD. x 5/8" LONG BRASS
[ BUSHING W/ 1/4"6-20 x 1°

A S. S M. S. W/ KEYHOLE WASHER
N 7 OR 1/4"8 MALE/FEMALE PANELMATE

W/ 1 7/8" Min. PENETRATION ® 12" o.c

TN

L
‘Min.

LE i

N
&
RS

)

1 ot

1{" WOOD HEADER |

y REQUIRED

[} I

1

b1 mm

g,__EEPARAT/ON“;
TO EXISTING

;'l GLASS |
{

e MOX.  PANEL LENCTH {SEE NOTES BELOW).

£Q fQ

N

® MIDWIDTH OF PLATE

&

.! \7/16" 00, % 578" Long BRASS
BUSHING Wy 1/4"820 x 1"

. 5 5. M. S. W/ KEYHOLE WASHER

OR "1/4°8 MALE/FEMALE PANELMATE

: W/ 1 7/8" Min. PENETRATION & 12" o,

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION,

#14 S. S. HEX WASHER HEAD —

WOOD SCREWS W/ 1

THREADED PENETRATION € 4" o.c.

-

ALTERNATE LEG__

“LOCA HON\O

1/2" Min.

1" Min.
SEPARATION __|
TO EXISTING

GLASS

d.25”

4" x 8" (Min.) EXISTING

WOOD BEAM REQUIRED.

STRUCTURAL ADEQUACY

OF EXISTING WOOD
BEAM TO BE CERTIFIED

BY REGISTERED ENGINEER

OR ARCHITECT FRIOR

70 SHUTTER INSTALLATION,

t
|
|
|
I
[
|
1 .
bope{1)
|
|
|
I
|
|
|
i

7/8'% x 3/32"
WING NUT @
12" 0 ¢ \

—®

y  Cont,

Max. PANEL LENGTH (SEE NOTES BELOW

-

NOTES:

EXCEPT THAT PANEL'S LEN?‘THS‘ FOR FLOOR/CEILING INSTALLATIONS

B SHALL BE LIMITED 70. 109"

% 2. rFor woop FRAME CONSTRUCTION: woOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

7. INSTALLATIONS ARE ONLY VALID FOR_MAX. A.5.D. DESIGN PRESSURE RATING
AND Max. PANEL LENGTH AS PER SCHEDULES SHOWN ON SHEET 0 OF 15

-11.00"]

H
e i
erspsaiisi?

y_‘?li x 6»
Woon DECK
REQUIRED

\';}’14 S. 8. HEX WASHER HEAD
WooD SCREWS W/ 1 1/2" Min,
THREADED FENETRATION @ 4" o.e,

#14 S. S, HEX WASHER HEAD —
WOOD SCREWS W/ 1 12" Min.

THREADED PENETRATION @ 4" o.c. ~—— 4" x 8" (Min.) EXISTING

WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WOOD

BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

TO SHUTTER INSTALLATION.

!
|
I .
|
h {
l: ont., | ) g
1
L a-2003/4 O §
) |- o
Y 7/8% x 3/32 P 0
:, WING NUT @ | ! 5
12" 0. C. ! 4
| ' ! by
A At 4
A *
R i I &
Vo SEPARATION | | %
"o EsTNG | &
;{ GLASS i o
| 1 s' F
“ " " i E
1 1/4" a-20x3/2 ! -
# 5( 5 M S, “f/“\ | —® »
| 7/8% ¥ 3732 I
| WG N @ | !
j 12" 0. ¢C !
ke L ! [/LTERNATE LEG
AL L { liocanon
| e S
= ]
<
\\/ﬂ 2" X &n
§ ot woon
/] DECK
ro | =0 REQUIRED

4; 5. 8. HEX WASHER HEAD

WOOD SCREWS W/ 1 1/2" Min.
THREADED- PENETRATION @ 4" a.e.

FLOOR

ALTERNATIVE 9

14" = 3

SCALE

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2011 TLTECO, NG 0.040" BERTHA ALUMINGM STORM PANEL| vre/resue.
' (2.25" DEEP) DRAWN BY:
| 12/06/11
b il
' EASTERN METAL SUPPLY, INC DATE:
"- E c O"'lNc. 4268 WEST ROADS D@gﬁw
WEST PALM BEACH, FL. _
gt nay SOTING & T AR G [COMPANY. PHONE: (561)209~8263, FAX: (561)841~1716 11-224
Phone : ms)ag%éz,: (305)871-1531 oy P TS DESCRIIION ATE DRAWING No
WALTER 4. DLLIT Jr. P.E. : oD ca-145 L1213 SHEET 13 OF 15
FLORIDA Liz. A 44167 2 )




g

1/4" @ LONG.LAG -SCREWS
@ 8”0 C W1 .3/4" Min.
THREADED PENETRATION

70 EXISTING WQOD HEADER

woop
HEADER:
REQUIRED

_.__F--,&

A

Hox. PANEL LENGTH (SEE SCHEDULE,

EQ EQ

REQUIRED }
ol

1" MINIMUM
I SEPARATION TO
VEXISTING GLASS

1/4° @ LAG SCREWS

® 6”0 C W 1 3/ Min

[ THREADED PENETRATION
TO EXISTING WOOD HEADER

)
S

|

|

|

|

i

|

|

|

|

!

| -3

' 3

: ]
Wy

{ )

| ]

i &

i

O g

1

| w

i s

| 3

b =

|

] 14 e-2001”

i

| HOLTS W/7/8%x
J432" WING NUT
@ 720 C

/

17 MINIMUM | I
" EE;;ARAGZ?%N 7o L Ay
EXISTING CLASS | D Y
, | ?
I 1
| R e
2“P)ZA ;Ej ! | 174" 0-20x1" }
| BOLTS W/7/8"8x
REQUIRED ! 3/32" Wé NF @ |
! 2" 0 C !
P |
I i
!
|
|
! P 2" % 4" |
8 PLATE= |
¥ REGUIRED }
1 -
1 b
% 1/4" 8-LAG SCREWS g ~
) “ L@ B0 € W 1 3/ Min,
THREADED PENETRATION & ;
4 & MIDWIDTH-OF PLATE,
7

] 18871
7/8" & x é/i? -

1/4 4 LAG SCREWS

® 8" D
7'HREADED FENETRA??ON

@ MIDWMIDTH OF PLATE.

1/2°-20x1" 8.5, SIDEWALK
BOLTS, W/3/4" SLOTTED

HEAD,
INTERIORLY REMOVABLE
THRU KEY HOLE™
8" G.LW/1/4°-20 NUT AT REAR.

-
PANEL

WING NUT |
@ 6" 0 C -X*\ : ,
Y .
NN I —_ U1 1 !
N 5 il k: ]
|‘ G = ’ |

N ' |
| ./ | !

|

040"

875" \/\/\/A I
ETAIL 2 — | LATION 1/4" xI

%t U
W/ 1 1/2" Mm_.// \\\\ﬁ

SCALE ; 3/8° = 1

7

CONNECTED TO
HOLES AT &

@

//mmaﬁw REMOVABLE PANEL ()

W/ SIDEWALK BOLTS (SEE DETAIL 2)
[HRU 5/8°%

" 0.C & FASTENED
AT REAR W77/8"x3/32" WING NUT
® EVERY SIDEWALK BOLT.

#14 S. S. HEX WASHER HEAD |
WOopD SCREMIS‘ W/ 1 1/2" Min']

h #14 S. S. HEX WASHER HEAD "
/ WOOD SCREWS W/ 1 1/2" Min; / |

THREADED PENETRATION ® 4" 0.C. | 4" x 8" (Min.) EXISTING

|__WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
OF EXISTING WOGD

BEAM 1O BE CERTIFIED
BY REGISTERED ENGINEER
OR ARCHITECT PRIOR

4" x 8" (Min.) EXISTING
c WOOD BEAM REQUIRED.
STRUCTURAL ADEQUACY
l | OF EXISTING WooD
BEAW TO BE CERTIFIED
BY REGISTERED ENGINEER

THREADED PENETRATION @ 4" 0.C. FO-5-£0) OR ARCHITECT PRIOR TO SHUTIER INSTALLATION.
TO SHUTTER INSTALLATION, .
{ I8
b 3
g s
A | @ |
" ' ! o
l
i i
I : \ Cont. i : l'
a T ; .
! %
! ! H /‘ i 3
H . [ ]
: g EXISTING a ) i -~ oy
EXIS‘TJNG-//:: ! GLASS ot * MINIMUM " j o
GLASS ! ! 2 I SEPARATION TO ! g
! rHD 5 | EXISTING GLASS j 5
g [ = 4 L__._/\I,_l___ z
| ; b
i i o
« | é E e é
e —— ! S
3 | : i M [ g
1" MINIMUM—— 1 , i =
i SEPARATION 10 | , %' 5 ™1 DETAL 2 g
EXISTING GLASS ) “ TN ! S
‘ | * i Pl omere s &
; ¥ 7/8" x 3/32" l | A—WING NUT B H
| | s WING wr e ! i 12" 0. ¢ T /
| — 1270, ¢, @\ N /8
} ) 2% &
| Cant, /j// ) Lont. “OF wooafR DECK - '
! ALTERNATE | 2" & ! ALTERNATE | REQUIRED
| (—LEG LOCATION [HER ! ——— WOOD_DECK  —LEG LOCATION ¢
{ X { REQUIRED
b = R — -

#14 5. 8. HEX WASHER HEAD
WQOD SCREWS W/ 1 1/2” Min.
THREADED FENETRATION © 4" 0.C.

INTERIORLY REMOVABLE PANEL @—/
W/ SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED 10 {B) THRU 5/8"

/,fM 5. 8. HEX WASHER HEAD
WOOD SCREWS W/ 1 1/2" Min,
THREADED PENETRATION @ 4° 0.C.

HOLES AT §&) @ 8" 0.0 & FASTENED
AT REAR W, ‘Ox3/32" WING NUT
@ EVERY SIDEWALK BOLT,

ﬁwm é’ia"ﬂ,yg’é,

aesﬁ@gﬁftﬁ ﬂ;

NOTE FOR COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED

REMOVABLE
PANEL IN ANY WAY TO SUIT ANY INSTALLATION,
NQTES:

SIQE WALK BOL TS @ REMQOVABLE PANEL

1. INSTALLATIONS ARE ONLY VALID FOR MAX. AS.D. DESIGN PRESSURE RATING
1 AND Mox. PANEL LENGTH AS PER SCHEDULES SHOWN ON SHEET 10 OF 15
EXCEPT THAT PANEL'S LENGTHS FOR FLOOR/CEILING INSTALLATIONS
SHALL BE LIMITED TO 109"

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

FLORIDA BUILDING CODE {Non Hig‘i"?"’@veeéae#i} Hurricane Zone) |

©2011 TLIECO, INC. 0.040° BERTHA ALU#WNJM STORM PANEL| vLesrepne
(2.25" DEEP) oRAY B
* "rT-"——' \ EASTERN METAL SUPPLY, INC | "5t
/ , 4 ’ DATE:
-/ “- ECO INC. \ 4268 WESBTE:;:OAD%D%EW
- WEST PALM BEACH, FL. _
gy Ry e O W
B ene ¢ (Jas)wé;féaoéérg; . (305)871 1831 s T T T prorer—— — DRAWING No
WALTER A. TILLIT Jr. FE. ! O oa-145 1261y 3 SHEET 14 OF 15
FLORIDA Lic. # 44167 =T r




1/4" ¢ x LONG LAG SCREWS
@ 8" 0. ¢ w1 3/¢" Min.

&

i THREADED PENETRATION
| TO EXISTING WGOD HEADER

¥
3

il
ij

5p0”

wooo |
HEADER —
REQUIRED |

1" MINIMUM
SEPARATION TQ
EXISTING BGLASS

/5\

Max. PANEL LENGTH (SEE SCHEDULE)

=

A\
1/4" @ LONG LAG SCREWS
@ 6" 0. C w1 3/4" Min.
THREADED™ PENETRATION
| TO EXISTING WOOD HEADER
) s
Q X
i
5 ;*ﬁrr‘
o
@
<15 . S éon A
- (1)1/4"-20x1 /2" Sfl “'%
wooD SIDEWALK BOLT W, N
HEADER 1/4"~20 JACKNUT —D
REQUIRED 7" MINIMUM .
SEPARATION 10 x* |
EXISTING GLASS .y
| 33
{(3)1/4"-20x1 /2" 8.5, Ry Y
SIDEWALK BOLT W/ + NG
1/4"~20° JACKNUT -

(2)1/4"20x1/2" 8.5,
SIDEWALK -BOLT W/1,74"

s
f
gL

o

Max. PANEL LENCTH {SFE SCHEDULE)

1.1/2" MIN.

PENETRATION 2"
N Max,

EXISTING
BRICK VEENER

1/4"8x7" ELCO male
PANELMATE TVAS ANCHORS
@ 8" 0.C.

4 =
L
woon b
HEADER | I
REGUIRED
v EXISTING
STEEL ANGLE LINTEL

AS APPLICABLE

[l
(i

A

!
1
|
3
| |
| . | 1" MINIMUM l | n
A= : SMILAR ll =20 JACKNUT EA. SIDE, I! Q ShILAR li | - sEraturtn srg_ | | !
3 EXISTING GLA
‘ | I | — | . ENISTING | | ‘%
l ' | | R BRICK SILL I O 3
| o | @i/ma0ay, i | :
3)1/4"-20%1/2" 8.5 :
| 1 | | “SDEWALK BOLT % g g s \ | S
| | | | 1/4"~20 JACKNUT r 2%4" > 1 ¥
i 1y - AT I i g > 1
2" x 47 . o x| - . B y | |
PLATE - | 1/4" 8~20 x-3/2 PLATE 174" 820 x-3/4" | gm 1 g ! / / | |
orn [ | BOLTS Wy 778" % | | —-(> BOLTS W/ 7/8" » _| s 7 1/2" MIN, | - )
REQUIRED 3/32” WNG fr o~ T |l AREQUIRED ! , 3732 il fur @ Jl 1 w peNETRATION P4 | 1 / e \ 1/4* 0205 8"
~ 1206 L i ; 120, ¢ \ ' APPLICABLE | BOLTS W/ 7/8%

o7 T | [ o ' 3 1\ N } ™ 3/32" Wi NUT

- | | N (. ! \\_. / ) @ 12" p. ¢

8 j 8 v CoC N = A <:

W ! W D 1/4"0x7" ELCO moale > | 2* 73/;0 L

- b [ | PANELMATE TvAS ] Max :
? > L ANCHORS © 6" 0.C, :
Y TO EXISTING PLYWOOD
5 ) cont, )
EXISTING 1/2”  \_EXISTING
. EXISTING N vy BRCK SLL
1/4" 8 LAG SCREWS :/a;" aoLAcs fyikzws 2" % 4% STuDS W;}gcgg &fg
e 8" 0.t W1 3/4" Min @ 6”0 ¢ " f
A AN 1 372" Min, PENETRATION © 16" 0.0 MAX REQD AS PER SECTION
@ MIDWIDTH OF PLATE. @ MIDWIDTH OF PLATE. 2304 OF FLORIDA
b | A BUILDING CODE.
ALTERNATIVE 134
NOTE FOR COMBINATION OF SECTIONS:
WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

—— < FLORIDA BUILDING CODE (Ncn H!‘gil Velocity Hurricane Zone)
I NOTES: 3 ©2011 TLTECC, INC. 0.040" BERTHA ALUMINUM STORM PANEL| vresresme
B G o D S (2.25" DEEP) DRAWN BY:

1 INS;}TA*LLAWO;JS gﬁon,gLrY VALID FOR max. AS.D. DESIGN Pl;ESS/;_URE RAT/NGS o A=K PN INC 12/06/11

AND Max. PANEL LENGTH AS PER SCHEDULES SHOWN ON SHEET 10 OF 1 L7 s Joe d / CAG : :
EXCEPT THAT PANEL'S LENGTHS FOR FLOOR/CEILING INSTALLATIONS / S‘%ﬁg{%gﬁ? SAG S iLlEco EASTERN METAL SUPPLY, DATE:
SHALL BE LIMITED TO 109" " Ao e & / INC. 4268 WEST ROADS ORVE
v SLORWL o | TILLIT TESTING & ENGINEERING COMPANY PHONE: 281906 B0 (561841-1716 11-224
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN Kog Jooemees AR JE7° BTt Ste, 05, VIRGNA GARDENS, F1. 33768 i DRAWING No
£ CUNST A TP 2 ! Phone : (305)871- 1530 ) - P T yrrr— Y
- PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL =D IONAL ¥ £8-0006719 = i N N
‘ﬂigyﬂ’iﬁﬁyﬂﬁi i’” W}"‘lLO;ERfD:szLg :gié:’?E' : ; - - ~ SHEET 15 OF 15




